RECOMMENDATION TABULATION

ITB #:	18-129V	Tentative Board Meetir	ng Date*: De	ecember 19, 2017							
ITB Title:	AUTOMATED EXTERNAL DEFIBRILLATORS	# Notified:	197	# Downloaded:	25						
	(AED) EQUIPMENT & SUPPLIES	# of Responses Rec'd:	3	# of "No Bids":	0						
For:	ENVIRONMENTAL HEALTH & SAFETY	Select One Opening Date :	November 3	, 2017							
Fund:	(School/Department) DEPARTMENT'S OPERATING BUDGET	Advertised Date:	Advertised Date: October 20, 2017								
Warehousing Servi adversely affected be or intended decision protest or failure to that "The formal widays during which Director of Procurer protesting an intend Broward County, F SBBC Policy 3320,	TB_RECOMMENDATION/TABULATION: ITB Reco ces and www.Demandstar.com on NOVEMBER 9, 2017 by the decision or intended decision shall file a notice of pron. The formal written protest shall be filed within ten (10) of file a formal written protest shall constitute a waiver of proritten protest shall state with particularity the facts and law the District is closed shall be excluded in the computation ment & Warehousing Services, 7720 West Oakland Park Bo led decision shall post with the School Board, at the time of lorida, (SBBC), in an amount equal to one percent (1%) of Part VIII, Purchasing Policies, Section N, within the time a Silence, as stated in the ITB / RFP / RFQ / HARD BI	@ 3:00 pm and will remarkets, in writing, within 72 he days after the date the notice ceedings under this chapter, upon which the protest is be of the 72-hour time periodulevard, Suite 323, Sunrise, filing the formal written protection of the estimated value of the fallowed for filing a bond shallowed for filing a bond shallowed.	uin posted for ours after the p e of protest is Section 120.5 ased." Saturday provided. Filin Florida 33351. otest, a bond, p contract. Failur Ill constitute a	72 hours. Any person posting of the notice of difled. Failure to file a notice of difled. Failure to file a notice of difled. Failure to file a notice of the second statutes and the second se	who is ecision otice of s, states ays and e of the n action oard of ired by otest.						
	e is tentative. Confirm with the Purchasing Agent of										
	RECOMMENDATION	ON TABULATION									
VENDOR NAM	<u>E(S)</u>	ITEM(S) AW	<u>ARDED</u>								
	E(S) LEARNING CENTER INC.	ITEM(S) AW									
ONE BEAT CPR L		ITEM 1 (A THR	U G)	CIFICATIONS, TERM	S, AND						
ONE BEAT CPR L IT IS RECOMME CONDITIONS. IT IS RECOMMEN	EARNING CENTER INC.	ITEM 1 (A THR ITEM 2-A BOVE LOW BIDDER MI	U G) EETING SPEC	BID AS STATED, EIT	HER IN						
ONE BEAT CPR L IT IS RECOMME CONDITIONS. IT IS RECOMMENTHEIR ENTIRETY	EARNING CENTER INC. CNDED THAT THE AWARD BE MADE TO THE AINTERNOON THAT FOR REASONS STATED ON THE ATTA	ITEM 1 (A THR ITEM 2-A BOVE LOW BIDDER MI CHED BID REJECTION S JECTED FOR NOT COMP	U G) EETING SPEC	BID AS STATED, EIT	HER IN						
ONE BEAT CPR L IT IS RECOMME CONDITIONS. IT IS RECOMMENTHEIR ENTIRETY	EARNING CENTER INC. ENDED THAT THE AWARD BE MADE TO THE AINDED THAT FOR REASONS STATED ON THE ATTAY OR FOR THE PARTICULAR ITEM(S) LISTED, BE RE	ITEM 1 (A THR ITEM 2-A BOVE LOW BIDDER MI CHED BID REJECTION S JECTED FOR NOT COMP	U G) EETING SPEC	BID AS STATED, EIT	HER IN						
ONE BEAT CPR L IT IS RECOMME CONDITIONS. IT IS RECOMMENTHEIR ENTIRETY	EARNING CENTER INC. ENDED THAT THE AWARD BE MADE TO THE AINDED THAT FOR REASONS STATED ON THE ATTAY OR FOR THE PARTICULAR ITEM(S) LISTED, BE RE	ITEM 1 (A THR ITEM 2-A BOVE LOW BIDDER MI CHED BID REJECTION S JECTED FOR NOT COMP	U G) EETING SPEC	BID AS STATED, EIT	HER IN						

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Director, EEO/ADA Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bid Title: Automated External Defibrillators (AED) Equipment Supplies

Bid No.: 18-129V Purchasing Agent: Mayra Tobar Bid Opened: Nov 03, 2017

Ö	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET				ONE BEAT CPR LEARNING CENTER INC DAVIE, FL						
Item		Quantity	Unit		Bid Unit Price	Bio	d Price Extension	5% Pref. Unit Price	Pref. Price Extension		
1-A	(6005621) AED Philips HeartStart FRx Defibrillator	50	Each	\$	1,015.000	\$	50,750.00				
1-B	(6005622) HeartStart FRx Carrying Case	50	Each	\$	85.000	\$	4,250.00				
1-C	(6005623) AED Philips Smart Pads (Adult)	1,200	Sets	\$	34.000	_	40,800.00				
1-D	(6005624) HeartStart FRx Battery	450	Each	\$	92.000	\$	41,400.00				
1-E	(6005625) HeartStart FRx Zippered Fast Response Kit.	50	Each	\$	15.000	\$	750.00				
1-F	(6005626) HeartStart FRx Infant/Child Key	60	Each	\$	65.000	\$	3,900.00				
1-G	(6005627) HeartStart FRx Closed Wall Cabinet to fit AED Unit. Cabinet must contain a clear door and be equipped with an alarm	50	Each	\$	110.000	\$	5,500.00				
	TOTAL (1-A THRU 1-G)					\$	147,350.00				
2-A	(6005628) Window/Wall Decal	100	Each		No Charge		No Charge				
									_		

REMARKS:

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY: Mayra Tobar

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Bid Title: Automated External Defibrillators

(AED) Equipment Supplies

Bid Opened:

Nov 03, 2017

Bid No.: 18-129V Purchasing Agent: Mayra Tobar

A	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET				SCHOOL HEALTH CORPORATION Hanover Park, IL							
Item		Quantity	Unit		Bid Unit Price	В	id Price Extension	5%	% Pref. Unit Price	P	ref. Price Extension	
1-A	(6005621) AED Philips HeartStart FRx Defibrillator	50	Each	\$	1,358.16	\$	67,908.00	\$	1,426.07	\$	71,303.40	
1-B	(6005622) HeartStart FRx Carrying Case	50	Each		NO BID		NO BID		NO BID		NO BID	
1-C	(6005623) AED Philips Smart Pads (Adult)	1,200	Sets	\$	36.23	\$	43,476.00	\$	38.04	\$	45,649.80	
1-D	(6005624) HeartStart FRx Battery	450	Each	\$	109.35	\$	49,207.50	\$	114.82	\$	51,667.88	
1-E	(6005625) HeartStart FRx Zippered Fast Response Kit.	50	Each	\$	29.76		1,488.00		31.25		1,562.40	
1-F	(6005626) HeartStart FRx Infant/Child Key	60	Each	\$	67.94	\$	4,076.40	\$	71.34	\$	4,280.22	
1-G	(6005627) HeartStart FRx Closed Wall Cabinet to fit AED Unit. Cabinet must contain a clear door and be equipped with an alarm.	50	Each	\$	163.71	\$	8,185.50	\$	171.90	\$	8,594.78	
	TOTAL (1-A THRU 1-G)						INCOMPLETE				INCOMPLETE	
2-A	(6005628) Window/Wall Decal	100	Each	\$	0.800	\$	80.00	\$	0.840	\$	84.00	

REMARKS:

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY:

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Bid Title: Automated External Defibrillators
(AED) Equipment Supplies

Bid No.: 18-129V Purchasing Agent: Mayra Tobar

Bid Opened:	
Nov 3, 2017	

P	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET			SCHOOL NURSE SUPPLY INC Schaumburg, IL							
Item	Quantity Unit		Bid Unit Price	Bi	d Price Extension	5% Pref. Unit Price		Pref. Price Extension			
1-A	(6005621) AED Philips HeartStart FRx Defibrillator	50	Each	\$ 1,194.00	\$	59,700.00	\$ 1,253.70	\$	62,685.00		
1-B	(6005622) HeartStart FRx Carrying Case	50	Each	\$ 100.00	\$	5,000.00	\$ 105.00	\$	5,250.00		
1-C	(6005623) AED Philips Smart Pads (Adult)	1,200	Sets	\$ 39.25	\$	47,100.00	\$ 41.21	\$	49,455.00		
1-D	(6005624) HeartStart FRx Battery	450	Each	\$ 112.00	\$	50,400.00	\$ 117.60	\$	52,920.00		
1-E	(6005625) HeartStart FRx Zippered Fast Response Kit.	50	Each	\$ 25.50	\$	1,275.00	\$ 26.78	\$	1,338.75		
1-F	(6005626) HeartStart FRx Infant/Child Key	60	Each	\$ 76.00	\$	4,560.00	\$ 79.80	\$	4,788.00		
1-G	(6005627) HeartStart FRx Closed Wall Cabinet to fit AED Unit. Cabinet must contain a clear door and be equipped with an alarm.	50	Each	\$ 159.00	\$	7,950.00	\$ 166.95	\$	8,347.50		
	TOTAL (1-A THRU 1-G)						\$ -	\$	184,784.25		
2-A	(6005628) Window/Wall Decal	100	Each	\$ 1.15	\$	115.00	\$ 1.21	\$	120.75		
					\$	-	\$ -	\$	-		
					\$	-	\$ -	\$	-		
					\$	-	-	\$	-		
				<u>'</u>	\$	-	\$ -	\$	-		
					\$	-	\$ -	\$	-		

REMARKS:

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY:

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Bid No. 18-129V

Automated External Defibrillators (AED) Equipment and Supplies Bid Rejection Sheet

Reject bid from <u>School Health Corporation</u>. In accordance with Special Condition 4, Bidders must offer a price for each item within the group in order to be considered for award. Bidder did not offer a price for Item 1B and this item would be ordered separately from the Defibrillator.